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Graph each transformation of f(x) =x2  and describe how it compares to the parent function.

1)  f (x) = x2 + 5
 
Transformation: ___Move up 5 units___
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2)  f (x) = x2 - 3
 
Transformation: _Move down 3 units___
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3)  f (x) = (x + 4)2

 
Transformation: _Move left 4 units___
 

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

4)  f (x) = (x - 2)2

 
Transformation: _Move right units___
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5)  f (x) = -x2 + 2
 
Transformation: _Reflect, up 2 units___
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6)  f (x) = -x2 - 3
 
Transformation: _Reflect, down 3 units_
 

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

7)  f (x) = (x + 2)2
 - 4

 
Transformation: _left 2, down 4_
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8)  f (x) = (x - 3)2
 + 1

 
Transformation: _right 3, up 1_
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9)  f (x) = (x + 2)2
 + 5

 
Transformation: _left 2, up 5_
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10)  f (x) = -(x + 3)2

 
Transformation: _Reflect, left 3_
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11)  f (x) = -(x - 4)2

 
Transformation: _Reflect, right 4_
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12)  f (x) = -(x + 5)2
 - 1

 
Transformation: _Reflect, left 5, down 1_
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Graph each transformation of f(x) =x2  and describe how it compares to the parent function.

1)  f (x) = x2 + 5
 
Transformation: ___Move up 5 units___
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2)  f (x) = x2 - 3
 
Transformation: _Move down 3 units___
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3)  f (x) = (x + 4)2

 
Transformation: _Move left 4 units___
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4)  f (x) = (x - 2)2

 
Transformation: _Move right units___
 

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

 



©T _2S0u2b0p IKkultJaI hSAoFfHtmwga^rfeA JLqLwCB.m Y KAUlil_ grzi`gUhHt]sH SrsepsHeWrpvNe\dv.J \ tMcapdkeK twJiTtZh^ UIgnEfmiHndiqtoeb fA^ljgPeHbZrpaR d1^.

Worksheet by Kuta Software LLC

-2-

5)  f (x) = -x2 + 2
 
Transformation: _Reflect, up 2 units___
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6)  f (x) = -x2 - 3
 
Transformation: _Reflect, down 3 units_
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7)  f (x) = (x + 2)2
 - 4

 
Transformation: _left 2, down 4_
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8)  f (x) = (x - 3)2
 + 1

 
Transformation: _right 3, up 1_
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9)  f (x) = (x + 2)2
 + 5

 
Transformation: _left 2, up 5_
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10)  f (x) = -(x + 3)2

 
Transformation: _Reflect, left 3_
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11)  f (x) = -(x - 4)2

 
Transformation: _Reflect, right 4_
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12)  f (x) = -(x + 5)2
 - 1

 
Transformation: _Reflect, left 5, down 1_
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